
CIRCLES – PRIMARY 2 (week beginning 11th May 2020) 

How did you get on? What did you use to help you? 

Can you tell someone how you got the answer? 

 

ANSWERS TO SHM1 : SUBTRACTION TO 10 PAGES 15 and 16 
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1 + 1 = 2      2 – 1 = 1 

2 + 2 = 4      4 – 2 = 2 

3 + 3 = 6      6 – 3 = 3 

4 + 4 = 8      8 – 4 = 4 

5 + 5 = 10      10 – 5 = 5 

 

6 – 3 = 3   4 – 2 = 2   10 – 5 = 4 

2 – 1 = 1   8 – 4 = 4   0 – 0 = 0 
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How many ducks? 6 

6 – 3  = 3    6 – 5 = 1   6 – 4 = 2 

How many swans? 7      7 – 3 = 4 

7 – 6  = 1    7 – 4 = 3   7 – 5 = 2 

How many leaves? 8 

8 – 4  = 4    8 – 7 = 1   8 – 5 = 2 

8 – 2  = 6    8 – 3 = 5   8 – 6 = 2 



 

6 – 4  = 2   7 – 6  = 1   7 – 3  = 4 

8 – 5  = 3   6 – 5  = 1   8 – 7   = 1 

 

How did you do? , or . 


